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" | Early 2003 |

N4

|" [ 2003~ 2004
! 13 schools in Chennai
Corporatlon -

v 2004- 2005

- -

All 264 schools in‘l

Chennai
_ Corporation /

et

N

2005-2006

i: | 4,160 schools in
TamllNadu

N

2006-2007

'. Al 37, 4ssschoois

\|n Tamll Nad9
_,/

$9 4
2 9"

sApprox, 60-70 teachers
and state resource persons
trained in RY

=24 teachers
trained

=10 tcachers cach from
10 sones trained

sApprox, 10 schools in
cach of 412 blocks

=500 teachers trained

*ALQOs, BRTs, teacher educators
cte, trained over the summer
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